SEHAR




%
~=
w3

oS
¢
n

—
=
-_\-_\\
&y
;)?Q ~
%E‘
e
=
K
W

ey

(&

PRF®GE AT ~ B 3R PRG35 2 1B

* R
I~ AR 107T# RGP ARG 2593 A 13,88 4 ~2 "1 94 - fppm
A 1,988 4~ gEAFL R 597 4 0 £ 316,452 4 -
2~~5K 107 11 * B3 B FF - 14,502 ~ -



(& e
> =
I

3y

R A i/%iﬁﬁ’é’»‘%f— FILd ¢ ﬁ—ﬁzf‘fi L B SRR R Y 34 E
R o 1B C R B 1 %ﬁ7glﬂiﬁ% W e g
BB AL R R E T £

TR F F s LAk A R EdlRe s Ml PR REF A
FOAEE KR FAIFRIFEAR BRI VAY X 13 BHIE e YET >
EAR S BRI R BIRY R4 B IR E 2R fE PRI BRI
TLBERH B RB BRI E A3 B A B4R 107 &5
BRAE S 16,452 4 2 107 & 11 » AR$ B2 5 14,502 « o

,3/\\331%5;&;‘1_?_{%,&%{3,1 ¥ BB E R B o



